CONTROL ENGINEERING - 177ME73/15ME73

IAT-3
50 MARKS
1.5 HRS
EACH QUESTION CARRIES 10 MARKS

1. Reduce the block diagram and obtain the transfer function Y(s)/R(s).

2. Use Mason’s Gain Formula and obtain the transfer function C(s)/R(s).

—=

30(s+3)(s—4)

3. A unity feedback system has G(s) = SG?-16)(551)

Determine:

a) Type of system

b) All error coefficients

c) Error for ramp input of magnitude 4

4. Obtain unit step response of a first order system and explain its features. Explain the
relationship between closed loop poles and transient response.

5. A system has the following transfer function:

C(s) 10
R(s) s—20

Determine its unit step and unit ramp response for zero initial conditions. Sketch the responses.
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